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ϖϖµµ
)↓

ο

οο

q = 55

∑
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Œ Ιœµ − ‰ Ιœ∀ − ‰ Œ
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A Tempo
q = 55
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Œ ιœµ − ‰ Ιœµ − ‰ Œ

œ∀ œ∀ œ∀ œ∀ œ∀ œ∀ œ∀ œ∀˙µ ∑

ϖϖµµ
↓

ο

arco

ο
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poco rit.
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−˙µ œ œµ œµ œ∀
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Œ Ιœµ − ‰ Ιœ∀ − ‰ Œ

œ∀ œ∀ œ∀ œ∀ œ∀ œ∀ œ∀ œ∀˙µ

ϖϖµµ
) ↓

| a tempo
& poco rit.
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Œ Ιœ∀ − ‰ Ιœµ − ‰ Œ

œµ œ∀ œµ œ∀ œµ œ∀ œµ œ∀˙∀
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| a tempo & rit.
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ο

ο
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a tempo
& poco rit.
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| a tempo
& poco rit.
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œ∀ œ∀ œ∀ œ∀ œ∀ œ∀ œ∀ œ∀˙µ

˙̇µµ
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ο
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| a tempo
& poco rit.λλλλλλλλλ
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| a tempo & rit.
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a tempo
& poco rit.
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ο
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& poco rit.
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− ‰ Œ
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17 ˙̇µµ ˙̇µµ

‰ −œµ ˙µ

œµ œ∀ œµ œ∀
œ∀

œ∀
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œ∀˙µ ˙µ

˙̇µµ
) ↓

˙̇∀∀
) ↓

a tempo & rit. ϖϖµµ
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q = 59
poco rit.
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˙̇µµ
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˙̇µµ

q = 59
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21 −−˙̇∀∀ Ι
œœ ‰

−˙∀ Ιœ ‰
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ιœ∀ œµ œµ œ∀ œµ
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˙∀
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|q = 59
& poco rit.
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ιœ∀ œµ œµ œ∀
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œ∀ œœ∀∀ œœ∀∀
œœ∀∀ œœ∀∀

œœ∀∀ œœ∀∀
œœ∀∀˙̇µµ

˙̇µµ
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ε

ε
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& poco rit.
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œœµµ˙µ
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œœµµ œœ œœµµ œœµµ œœ∀∀
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œœµµ œœµµ
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œœµµ˙µ
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œœ∀∀
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& poco rit.
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& poco rit.
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œ∀ œ∀ œµœµ œ∀ œµ
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∀
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‰ Ιœµ −˙µ

≈
œµ œµ œµ

≈
œµ œµ œµ

≈
œµ œµ œµ

≈
œ∀ œ∀ œµœµ œ∀ œµ

œœµµ
) ↓

œœµµ œœ∀∀
) ↓
œœµµ

-1/4T

-1/4T

œµ
−
œ∀
−
œµ
−
œµ
− œ∀ − œµ −

œ∀ œ∀ œµ ˙̇∀∀
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Ιœµ

‰ Ιœµ œµ ˙µ

≈
œµ œµ œµ

≈
œµ œµ œµ

≈
œµ œµ œµ

≈
œ∀ œµ œµœµ œ∀ œ∀

œœµµ
↓)

œœµµ œœ∀∀
) ↓
œœ∀∀

+1/2T

poco rit.

‰ ιœµ œµ œµ

‰ Ιœµ
œµ œ∀

≈ œµ œµ œµ œµ œµ œµ œµ œµ œµ œµ œµ

œœµµ
) ↓

œœµµ
œœ∀∀
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molto rit.λλλλλλλλλλ
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œµ œµ œµ œµ œµ œµ œµ œµ œµΤ
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) ↓

œœ∀∀ œœµµ
ο

ο

ο

+1/2T

-1/4T

-1/4T-1/4T-1/4T

q = 35
‰

Ó

‰

‰
(pedal)

œµ œµ œ∀

œµ − œµ −

œœ∀∀
œœ∀∀ œœ∀∀

œœ∀∀œµ œ∀

œœµµ
) ↓

œœµµ
)↓

Ε

Ε

Ε

+1/2T+1/2T

q = 33
& rit.
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Ο
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